M & Ol & AFSY H Al A
20244 20lla SALHAMZOISHI|IS2ESLES
A FHwSH
& 200 M=
2t 210 BaHA2==
2 216 O Xp==91 (Gt d2)
2H-F-2-8-5F Ol &F of & E 0| AkoH HlwE2
=5 Al 3,528,343 4,057,000 528,657
ey Imi=n; 3,528,343 4,057,000 528,657
200 Miel==g 58,880 57,000 1,880
210 BaEA2== 58,880 57,000 1,880
216 Ol At==& 58,880 57,000 1,880
216-01 S30S01Xt==¢ 58,880 57,000 1,880
2303 Ol 58,880,0002! 58,880
700 EH-USLLHFEHHN 3,469,463 4,000,000 530,537
710 2dUS 1,969,463 3,000,000 /1,030,537
711 203 1,969,463 3,000,000 21,030,537
711-01 =HIAILNHZ 1,969,463 3,000,000 /1,030,537
O=MHLH= 1,969,463,0002! 1,969,463
720 LIS HH 1,500,000 1,000,000 500,000
721 M3 1,500,000 1,000,000 500,000
721-03 JIEFSIHIE Y S 1,500,000 1,000,000 500,000
OLEsH M= 1,500,000,000&! 1,500,000
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Al & 0l & AF Al A
20249 204 AP ZEESS|
TH EEpSImE=n);
& 1 200 Mol
2 0 210 BAEANAY
= 216 O|Af==0! (Crel:x2l)
2H-F-2-8-5F Ol &F of & E 0| AkoH HlwE2
& Al 260,900 210,900 50,000
ey Imi=n; 260,900 210,900 50,000
200 Miel==g 1,000 1,000 0
210 BaEA2== 1,000 1,000 0
216 Ol At==& 1,000 1,000 0
216-01 S30S01Xt==¢ 1,000 1,000 0
O3303 Ok 1,000,000 1,000
700 EH-USLLHFEHHN 259,900 209,900 50,000
710 2dUS 2,000 2,000 0
711 203 2,000 2,000 0
711-01 =AIAHIL = 2,000 2,000 0
O=MALHS 2,000,000& 2,000
720 LIS HH 257,900 207,900 50,000
721 M3 257,900 207,900 50,000
721-03 JIEFSIHIE Y S 257,900 207,900 50,000
OLEsH M= 257,900,000 257,900
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